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Run 5632 quartetwise, PosHelAccd
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Run 5632 quartetwise, NegHalAccd
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Run 5632 quartetwize, Asyms DSbg1
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Entries: 32511
Mean: 0O 6 +- 0.0029
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Run 5632 quartetwise, Asyms LIShg2
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Run 5632 quartetwize, Asyms DShg2
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=== Laser O -—-
Entries: 44714
Mean: 00001 +- 0.0006
Sid Deyv: 01245 - 00004

== Laser OFF ---
Entries: 32511
Mean: 00005 +- 0.0007
Sid Dev: 01239 - 00005

Run 5632 quartetwize, Asyms Vert Finger
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== Laser OFF ---
Entries: 32511
Mean: -0.3015 «- 0001%
Sid Dev: 03503 +- 0.0014

0.5




posHD

dilid

asymilsu

Run 5632 gquartetwize, posHEI vs time Run 5632 guartetwize, negHO vs time
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Run 5832 quartetwise, posH4 vs time
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Run 5632 gquartetwize, posH4 vs time
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Run 5632 guartetwize, negH4 vs time
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Run 5832 quartetwise, posH4 vs time
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Run 5632 quartetwize, USbg1 ve time Run 5632 guartetwize, USbg2 ve time
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Run 5832 quaretwizse, variFing vs timea Run 5832 quanetwizse, horizFing vs tima
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